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FIRST REVISION EXAM - 2023

STD - X .
MARKS : 100
TIME : 3.00 Hrs MATHS

'PART -1
|. Answer all the questions. 14x1=14
1. A={ab,p),B={23)},C={p.qrs)thenn[(AUC)xB]is

a) 8 b) 20 c)12 d) 16

1
2. If flx)=2x?and g(X)=3—x-, then fog is

3 2 2 1

e ® % ) ol R

3. 3, x, 6.75 are consecutive terms of a GPthenxis..........
a)2.25 b)9.75  ©)45 d)15

4. Thevalugof (13+22+ 3 +.......+15)-(1+2+ 3+ +15)is
a) 14400 “b) 14200 c) 14280  .d) 14520

X 8 )
G ion Ives
D x2-25  x2+6x+5 g

X +10

12 ~Tx+40 X +7x+40 X2 -Tx+40 : _
(% -25)(x+1)

A) (x =5)(x +5) b) (x=5)(x+5)(x+1) ) (xz—'zs)(x-{-l)

36 Y

6. Find the matrix x if 2X+
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10, The condition of two atraight linea a x + by e, = 0and ax + by + o, = Owhere the
co-efficients are non-zero, are parpendicular It and only If

Qab -ab =0 bab, ab, =0 o)aa, v bb,=0 d) aa,- bb, =0
11, tan © Cosec " 0 - tan 0 18 squal to
a) Secd b) Cot* 0 0) 8ln 0d) cot 0

12, Aspherical ball of radius r, units s melted to make 8 new identical balls each of radius r,
units, Thenr, ityis

a2 b)1:2 ¢) 4.1 d)1:4
13. Father of Indian statistics was........ |
a) Srinivasha Ramanujam b) Sagundala Devi

¢) Prasanta chandra Mahalanobis d) Kaprekar
14 Which of the following is incorrect »

a) pA) > 1 b) 0.5 p(A) <1 c) p(9) =0 d) p(A) + p(A) = 1
PART - Il
Answer any Ten Questions, Q.No. 28 is compulsory ; 10x2=20

15 LetA={12 3}and B = { x/xis a prime number lessthan 10 }. Find Ax B and B x A,
16, Find K, if fe f(k)=5, where f(k) = 2k - 1

17. Today Is Tuesday, My uncle will come after 45 days. In which day my uncle will be coming?
18. Find the number of terms inthe AP 3 6 9, 12 ... 11 ‘

® quadratic equation 9x? - 24x + 16 = 0.
at BC = 3 om EF = 4 cm and area of A ABC = 54 cm?.

length 16cm of larger circle becomes a tangent to the
Find the radius of the larger circle.

- (a, 3) has slope -1/2. Flhd the value of a
tercepts on the x and y axes are -5, 3/ 4.

ual total surface area. Prove that the ratio of

" ndom will contain 53 saturdays,
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28. The mean and Variant of the 10th standard students of a school is 155cm and 72.25 cm?
| respectively. Find the co-efficient of variation.

PART - lll L i

Answer any Ten Questions. Q.No. 42 is compulsory - 10x5=50 ‘

20 fA={xeN/x<2),B={xeN/1<x<4}andC={3,15}thén verify
" A{BNC)=(A*B)n(A*C).

2X+T;x <~
x2—2—25x<3

30- TFthe function f : R -> Ris defined by /)=
’ ' Ix-2;x33

then find the value of

=3f(4)
f=3)
31. Find the sum of all natural numbers betwen 300 and 600 which are divisible by 7.

32. Ifa, b, ¢ are three consecutive terms of an A.P and X, Y, Z are three consecutive terms of a
GP. thenPT.xtxycexz** =1,

/33.' If 9x* + 12x° + 28x* + ax + bis a perfect square. Find the values of a and b.
34. If o, B are the roots of 7x2 + ax + 2 = Qand if B-0a=-13/7. Find the values of "a".
35. P and Q are the mid-points of the sides CA and CB respectively of a A ABC,
right angled at C. Prove that 4(AQ 2 + BP2) = 5AB 2,

M f@) (i) f2) (i) 7(4) + 2f(1)

‘,36] Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
 (-4,-2), (-3, k), (3, -2) and (2, 3).
sing through the point of intersection of the lines

1 = Othat has equal intercepts on the axies.

fj e side of a street from each other 35m apart. From a point on
levation of the top of statue is 24 and the angle of depression
the height of the statue. (tan 24° = 0.4452, tan 34° = 0.6745).

€Nds of a frustum which is 45cm high are 28cm and 7cm, find the

ylinder with two hemisphere stuck to each of its ends. if the
IM and the diameter of the capsule is 3mm, how much medicine

A
at (AB)" = 316

.-/ i

7l
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r/r
PART - IV !
Answer all the Questions. 2x8=16

43 a) Construct a triangle similar to a given triangle PQR with its sides equal to 7 / 4 of the
comasponding sides of the triangle PQR (Scale factor 7 /4 > 1)

(OR)
b) Construct a A PQR such that QR = 6.5 cm, £P = 60° and the altitude from P to QR is of
length 4.5cm.

44 a) Abus is travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and
hence find

® the constant of vanation
(®  how far will it travel in 90 minutes
(W)  the time required to cover a distance of 300 km from the graph.
(OR)
.rb) Draw the graph of y = 2x® - 3x - S5and hence solve 22 -4x-6=0
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